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 Please check that this question paper contains 30 questions.
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it.
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General Instructions :

(i) The question paper has 30 questions in all. All questions are

compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer

questions. Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions.

Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions.

Answer of these questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,

attach the maps inside your answer-book.
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1. 1832 3l 39 G4 o1 W faRaw & IHW =l T Tad Y i A=
i 1

HAAAT
oo™ ° ST hl TS & S8 SHaT ° St STfed STaisT sl SR
gfoTs fepett ?

Name the Treaty of 1832 that recognised Greece as an
independent nation.

Or
What was the result of the peace negotiation in Geneva that

followed the French defeat in Vietham?

2. @fis ¥ fafay @, weran, fafay e, svs 3 o =i T S
87 1
Why are there a wide range of colours, hardness, crystal forms,

lustre and density found in minerals?

3. et @@ g W hfsa TcieH fhg YR Gredm J&hid o T&ieHr o
e ? 1

How are issue specific movements different from generic

movements?

4. Tordl us TeHifaes gt o1 9 forflay et T T ) Teiiaes are
2, W 3 TP TSifae gt o &9 § Ar=rar 92 et 2 | 1

Name any one political party that has national level political

organisation but not recognised as the national political party.
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5. SfcTror™T | aTt o TASTioRtor o Rt STIEIe ohi STATS fohd TiTa
oft 7

Which organisation led the protest against water privatisation in

Bolivia?

6. o o foesft et 7 srar shifsu |

Differentiate between investment and foreign investment.

7. el hHIfSTT foh ARl 31T AT o S T o T gt <t O sfiae
Tiief Ut 2 | Suhl TueR & Wi STIved B % fofu 31 B a1 veg
e (M) <@ =mEn ?

Suppose you have to buy a packed bottle for drinking water in
your journey. Which logo will you like to see to be sure about its

quality?

8. Sohl § STHT UTRAT fohe YRR sishi <Al 3114 o1 GId &-d] & ¢

How do the deposits with banks become their source of

income?

9. 9 ¥ IHAwA Wl o A AR h DA fRT IR TP F1 TAH |
Toreeior ShifeTe |

YT

HRREN & faeg e & foru wae & fafser ot gro fore e st &
forrammy o Tyare fohe yehr 39w 7 forgersor Shifs |
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How had the female figures become an allegory of the nation

during nineteenth century in Europe? Analyse.
Or

How did nationalism emerge in Vietnam through the efforts of

different sections of society to fight against the French? Analyse.

10. 1921 Tk TorEH WS o1 UL TR R Tofam o1 ? TSt o 39 910 ohl
& faeivarett ohi T8 i | 1+2 =3
Who had designed the ‘swaraj flag’ by 19217 Explain the main

features of this ‘swaraj flag.’

11. I a9 ArRieH e TR & T a1’ wed i gfy
SETET Afed Shifery | 3x1=3

“The Civil Disobedience Movement was different from the Non-

Cooperation Movement.” Support the statement with examples.

12. 3T I YSft (a1 o IR W Fffehd hIT | 9 ohd SRR TH-g@ 9
firs 2 7 3aTewon wikd w9m SN | 1+2 =3

Classify industries on the basis of capital investment. How are

they different from one another? Explain with examples.

13. ‘‘gem uitged & ared g fosm ?q woi-omfea €17 38 Fom & ua
319 fom =2=h T | 3

“Efficient means of transport are pre-requisites for the fast

development.” Express your views in favour of this statement.
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14. 59 IJEAN S H THAS AN ¢ ST Fed ATA § IAqH AR oo
3cuTE o <l J@et H aigut qen srenfel 217 3@ e @l =T

3gdleV | 3

“The textile industry is the only industry in the country which is
self-reliant and complete in the wvalue chain.” Justify the

statement.

15. TS TeHifds e’ & 91 MU B ? UF UeHIfae g s & o
AT ITd] ol Sood hIfSTT | 1+2=3

What is meant by a ‘national political party’? State the conditions

required to be a national political party.

16. at foremdt Tvg fohe hed & 7 3Rl S -fafer =1 ai <hifse | 1+2=3

What are sectional interest groups? Describe their functioning.

17. ““srferenret T AAleRdTieh ITEiHe ey foedR il FHId! i JHAT
FEZ | 38 HY hil T Afed gy Hifv | 3x1=3

“Most of the established democracies are facing the challenge of

expansion.” Support the statement with examples.

18. Tz1, IEG3Tl 3R Taredl & fof-ma 4 fore SRR giaen Yemehal o €9
T R Fhell § ¢ TIY i o oI ITTETT ST | 3x1=3

How can money easily exchange it for goods or services? Give

example to explain.
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19. ‘9d H 1991 ¥ fodw =R 3 foesft o W O 10 =+l g8
qoh BT fom T/ o7 | 39 M shl =IEETd 384sT | 3

‘Barriers on foreign trade and foreign investment were removed

to a large extent in India since 1991.” Justify the statement.

20. ““IT=iEs Sen sht grg Y TR ol gdicaTed T e | deht
TfEd 38 HeH i gie Fifer | 3x1=3

“The credit activities of the informal sector should be

discouraged.” Support the statement with arguments.

21. BETE A % e afes qeeE A 9rEdT 991 i o fole S
SRTT=ISRTIET ST TR foRT 71T IUTIT STR St ahT forveteor i | 5x1=5
atera
“fordam 4 SR % g8 W % USd ¥ Uk ;T SR WY gIAT S
fomramieEt o wn-wy sl o fou sga wem aifed gam 1’ @
o 1 forveror Hifsr |

Analyse the measures and practices introduced by the French
revolutionaries to create a sense of collective identity amongst the

French people.
Or

“U.S. entry into the war in Vietnam marked a new phase that
proved costly to Vietnamese as well as to the Americans.”

Analyse the statement.
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22. TS T ETd T T 1919 & fog, Ueh P Hamig 3Tieie
IJA 1 O = Toran ? 39 I ol TR YehR H=iford foRam TR 7
Wy Hifsru | 2+3=5

Why did Gandhiji decide to launch a nationwide satyagraha
against the proposed Rowlatt Act 1919? How was it organised?
Explain.

23. YIfrm Sl WedT i ISR N | IR | Ueiferaw it 3ufefa
ST ST | 2+3=5

Highlight the importance of petroleum. Explain the occurrence of

petroleum in India.

24, ““fopelt <m1 Y mfdfer Safa fafamtor semt o fomrme @ ot St 217 e
Tfed 39 eF I 8 i | 5

“The economic strength of a country is measured by the
development of manufacturing industries.” Support the statement

with arguments.

25. Tehdli=Ieh TR fohd YR I YR il AW T Jga 8 7 g
IS | 5

How are the democratic governments better than the other forms

of governments? Compare.
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26. “‘TaTd wYE MR QI Teifa W fafie R @ wame e #1775
U shl ITYTh IS Higd B T | 5%1=5

“Pressure groups and movements exert influence on
politics in different ways.” Support the statement with suitable

examples.

27. U1 Sl HE@qUl 3R HRRIcH fHehT 1 ITTE Tl FUIH HITST | 5

Describe the vital and positive role of credit with examples.

28. JvefieRtur foRe FEd © 7 vt i TR 1 WiEd R W agugE
FrIf <ht ftrert 1 guid AT | 1+4=5

What is globalisation? Describe the role of Multinational

Corporations (MNCs) in promoting globalisation process.

29, 9 A A, B 3R C, WRA & feu MU ysHifae War-amte 9 sifera
fopu U 2 | 39 @en Rl FEfafgd SR St HERET 8 ggenHT 3R
3 TE I g W Ei=h 78 W@nedt W fafgu 3x1=3

A. 98 TIH Sl ARATE UL i I ATIEH g1 o |

B. 9% T S fRUMI o TmE € JS1geT ¢ |

C. 98 TR SN STl STFT =21 8 Geferd 2 |
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Three features A, B and C are marked on the given political
outline map of India. Identify these features with the help of the
following information and write their correct names on the lines

marked in the map :

A. The place where the Indian National Congress Session was
held.

B. The place associated with peasant’s satyagraha.

C. The city associated with the Jallianwala Bagh incident.

e : ffiRad T shae greaTiem udeterE o foe s s 29

ERDIER I E

(29.1) 3| T &1 AW foafay, S|l 1927 # IR TER FOG w5
STTTeT g1 T |

(29.2) 3G T 1 1 feiRgu, S=f it F ©dt F@ 9t 7 s
ERIRI
(29.3) Sferatarett SmT &t AT ¥ Hefea et i A foifiau |

Note : The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress

Session was held in 1927.

(29.2) Name the state where the Indigo planters organised
satyagraha.

(29.3) Name the city related to the Jallianwala Bagh incident.
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30. 9N & fou T T War-amt # Frefafaa w sugw fEt @
IRMTEY 3TN 37k 18 foAfay : 3x1=3
A. FFHARR —  dA-&
B. R — IS 3eId 93
B. TRIfA — @ 93 95

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Ankleshwar — Oil field

B. Durgapur — Iron and steel plant
C. Tuticorin  — Major seaport
e : FMHTTRad S9H shael grEaTiea TaeImiei o fofe Sed @3 30 o T

WE:

(30.1) 3Thcival dct &7 fohe =g 1 fdg 7 7

(30.2) g AreT @ 3eard T fohg T | TR 2 7

(30.3) A o ST&UTaH T I o1 A1 foafeu |

Note: The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 30 :

(30.1) In which state i1s Ankleshwar oil field located?
(30.2) In which state is Durgapur iron and steel plant located?

(30.3) Name the southern most major seaport of India.

32/1/1 11



